Briton 4700 Pull Handle R
Installation Instructions

Pull Handle Set Contents:

rX-""IOmTmTmogno>

1 x Stainless Steel Pull Handle

2 x Pull Handle Mounting Brackets
2 x M8 x 10mm Torx Screws

2 x M8 x 30mm Threaded Tubes

2 x M8 x40mm Threaded Inserts
2 x M8 x20mm Threaded Inserts

2 x M8 Secret Fix Threaded Inserts
2 x 20mm Plastic Washer Inserts
2 x 22mm Plastic Washer Inserts

2 x 32mm Plastic Washer Inserts

2 x Pull Handle Grub Screws

1x Torx Head Allen Key

@

Timber Doors %
Bolt Through Fixing -

S

ingle Pull Handle Pt & @@

4
P

)/
A -
)

®
©.
&

W




Installation Instructions — Briton 4700 Pull Handles

@

Timber Doors
Secret Fixing -
Single Pull Handle

mm

@10mm
/

X2

26
mm

-~
-

s &

7
&

2

&

&

[\“ﬁ

QR
@..5@




Installation Instructions — Briton 4700 Pull Handles

®

Timber Doors

Back to Back Fixing -
Pair of Pull Handles

5 ] 5 [;T// 1 xz/
@ (-
® | ‘ H ®
T R
e,
. & W =
% S, . N

N ®
® R
R ‘ ~
X 5 x2 % o
[ o
y: q
< |
) \/
!
CANEGY :
Cl




Installation Instructions — Briton 4700 Pull Handles

®

Glass Doors

Back to Back Fixing -
Pair of Pull Handles o 3=
[o] ey Y Nm
®
Q ) X2
® L__J ®
K @ K
L] & 0
N
o~

@06 | |- -
/® **O-s/®®@ f:| Q’Z@%
-
e 4{m%
X2
32mm @

{'{"'@ @, N ®
X2 ®OT | | =

KL%;V

C e ® \
ed G

Q[

Allegion Technical Support HAh Allegion (UK) Ltd

Tel: 0800 834102 allegion.co.uk ALLEGION = B Bescot Crescent

Email: technicalsupport@allegion.com WP Walsall, WS14DL, UK




